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F–2704    

U.G. DEGREE EXAMINATION, NOVEMBER 2019 

Corporate Secretaryship 

Allied : ACCOUNTANCY FOR BEGINNERS 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is accounting? 

 PnUQ¯À GßÓõÀ GßÚ? 

2. What is double entry system? 

 Cµmøh £vÄ •øÓ GßÓõÀ GßÚ? 

3. What do you know about nominal account? 

 ö£¯µÍÄ PnUS £ØÔ } AÔÁÚ ¯õøÁ? 

4. Write a few lines on accounting equation. 

 PnUQ¯À \©{ø» £ØÔ K›¸ Á›PÒ GÊxP. 

5. What do you know about triple column cash book? 

 ‰ßÖ £zv öµõUP Hk £ØÔ } AÔÁÚ ¯õøÁ? 

6. What do you understand by “Credit note”? 

 “Phß SÔ¨¦” £ØÔ } ¦›¢uÚÁØøÓ TÖP. 

Sub. Code 

7BCSA2 
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7. Brief Imprest system of petty cash book. 

 ¤ßÁ¸® ]À»øÓ öµõUP Hk £ØÔ ]Ö SÔ¨¦ GÊxP. 

8. What is meant by contra entry? 

 GvºGvº £vÄ GßÓõÀ GßÚ? 

9. What is an outstanding expense? 

 öPõk£hõ ö\»Ä GßÓõÀ GßÚ? 

10. What is meant by prepaid expenses? 

 •ßTmi ö\¾zv¯ ö\»Ä GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the objectives of accounting? 

  PnUQ¯¼ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Explain the classification of accounting. 

  PnUQ¯¼ß ÁøPPÒ ÂÁ›. 

12. (a) What are the advantages of double entry system? 

  Cµmøh £vÄ •øÓ°ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Journalize the following transaction : 

  (i) Bought goods on credit from john Rs. 4,000. 

  (ii) Goods returned by balu Rs. 500. 

  (iii) Paid carriage inwards Rs. 100. 
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  (iv) Cheque Rs. 1,400 received from Charles in 

settlement of debt of Rs. 1,500 returned 

dishonored. 

  (v) Paid insurance Rs. 300. 

  (vi) Sale of typewriter for Rs.300 

  ¤ßÁ¸® ÂÁµ[PÐUS SÔ¨÷£k £vÄ u¯õº ö\´P. 

  (i) áõß&°h® PhÚõP öPõÒ•uÀ ö\´ux ¹. 4,000 

  (ii) £õ¾ \µUS v¸¨¤ AÝ¨¤¯x ¹. 500 

  (iii) EÒyUS T¼ ö\¾zv¯x ¹. 100 

  (iv) \õº»ì&°h® C¸¢x Phß ¹. 1,400 ©v¨¦ÒÍ 

Põ÷\õø» ¹. 1,500 Phß PnUøP •iUP ö£ØÓx 

Á[Q°À C¸¢x v¸®¤¯x 

  (v) Põ¨¥k ö\¾zv¯x ¹. 300 

  (vi) umha_ C¯¢vµ® ÂØÓx ¹. 300. 

13. (a) Prepare bills receivables and bills payables book 

from the following information : 

2009 

January 

 

1 Acceptance received from Moban for

Rs.9,000 payable after 3 months 

20 Acceptance given to Mano’s bill for

Rs.7,000 payable after 3 months 

31 Acceptance received from Karim for 

Rs.6000 payable after 4 months accepted 

February  

5 Ramesh’s bill for Rs. 1,500 payable after

4 months accepted 

11 Raja’s acceptance for Rs. 1,700 payable

after 80 days received 
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  ¤ßÁ¸® ÂÁµ[PøÍ öPõsk ö\.©õ.^mk ©ØÖ® 

ö£.©õ.^mk PnUQøÚ u¯õº ö\´P. 

2009 

áÚÁ› 

 

1 ÷©õPÛh® J¨¦uÀ ö£ØÓ ^mk ¹. 9,000

‰ßÖ ©õu[PÒ 

20 ¹. 7,000&US ©÷ÚõÂØS J¨¦uÀ AÎzux

(3 ©õu[PÒ) 

31 |õßS ©õuzvØS PŸ® J¨¦uÀ AÎzux

¹. 6,000 

¤¨µÁ›  

5 µ÷©æh® |õßS ©õuzvØS J¨¦UöPõsh

^miß ©v¨¦ ¹. 1,500 

11 µõ÷áè 80 |õmPÐUPõP J¨¦uÀ AÎzu

^miß ©v¨¦ ¹. 1,700 

Or 

 (b) Mr. Hussain starts business with Rs.15000 on  

20th January 2008. Of this he pays Rs.10000 into his 

bank account. His transactions during the month 

were as follows : 

2008 

January 

 

21 Purchased goods for cash Rs. 500 

24 Sold goods for cash Rs. 950 

28 Paid wages Rs. 150 

  Compile the simple cash book of Mr. Hussain. 
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  v¸. E÷\ß áÚÁ› 20, 2008 AßÖ ¹. 15,000 •u¾hß 

öuõÈÀ öuõh[QÚõº. ¤ßÚº Á[Q°À ¹. 10,000 

ö\¾zvÚõº. A®©õuzvÀ AÁµx |hÁiUøPPÒ 

¤ßÁ¸©õÖ : 

2008 

áÚÁ› 

 

21 öµõUP öPõÒ•uÀ ¹. 500 

24 öµõUP ÂØ£øÚ ¹. 950 

28 T¼ ö\¾zv¯x ¹. 150 

  v¸. E÷\Ûß öµõUP HmiøÚ u¯õº ö\´P. 

14. (a) Explain the causes for difference between cash book 

and pass book. 

  ö\À÷»miºUS® öµõUP HmiØS® Cøh÷¯ EÒÍ 

÷ÁÖ£õmiØPõÚ PõµoPøÍ ÂÁ›UPÄ®. 

Or 

 (b) From the following particulars of Mr.Vimal, prepare 

a bank reconciliation statement as on 31. 12.2007. 

  (i) Balance as per cashbook on 31st 12.2007 was 

Rs. 12,000, 

  (ii) Cheques for Rs. 5,000 were deposited on  

25th December, but collected in January 2008. 

  (iii) Cheques for Rs. 4,000 were issued in 

December out of which only cheques for  

Rs. 2,500 were presented for payment in 

December 2007 

  (iv) Banker has debited bank charges of Rs. 75 for 

which no entry has been made in cash book. 
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  ¤ßÁ¸® ÂÁµ[PøÍ öPõsk v¸. Â©À AÁºPÎß  

31.12.2007&UPõÚ Á[Q \›PmkuÀ £mi¯ø» u¯õº 

ö\´P. 

  (i) 31.12.2007 AßÖ öµõUP Hmiß C¸¨¦  

¹. 12,000 

  (ii) ¹. 5,000&UPõÚ Põ÷\õø» Á[Q°À ö\¾zv¯x 

•øÓ÷¯ 25 i\®£º, BÚõÀ Á`¼UP¨£mhx 

áÚÁ› 2008 

  (iii) ¹. 4,000&UPõÚ Põ÷\õø»PÒ i\®£º&À 

ÁÇ[Q¯vÀ •øÓ÷¯ ¹. 2,500 ©mk® Á[Q°À 

£n® ö£ØÓx i\®£º 2007 

  (iv) Á[Q Pmhn® ¹. 75 ö\À÷»miÀ ©ØÖ® 

£v¯ö£ØÓx. 

15. (a) Prepare trading account from the following 

informations : 

  Stock of goods on 1.4.2007 Rs. 35,000 

  Stock of goods on 31.3.2008 Rs. 47,500 

  Purchase by cash Rs. 57,000 

  Purchase by credit Rs. 85,000 

  Sales by cash Rs. 90,000 

  Sales by credit Rs. 45,000 

  Return to suppliers Rs. 1,500 

  Return to customers Rs. 3,500. 

  ¤ßÁ¸® ÂÁµ[PøÍ öPõsk Â¯õ£õµ PnUQøÚ 

u¯õº ö\´P. 

  \µUQ¸¨¦ 1.4.2007 AßÖ ¹. 35,000 

  \µUQ¸¨¦ 31.3.2008 AßÖ ¹. 47,500 

  öµõUP öPõÒ•uÀ ¹. 57,000 
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  Phß öPõÒ•uÀ ¹. 85,000 

  öµõUP ÂØ£øÚ ¹. 90,000 

  Phß ÂØ£øÚ ¹. 45,000 

  öPõÒ•uÀ v¸¨£® ¹. 1,500 

  ÂØ£øÚ v¸¨£® ¹. 3,500. 

Or 

 (b) The following balances were extracted from the 

ledger of Ramakrishna Works Ltd on 31st March 

2007. You are required to prepare a trial balance as 

on that date in proper form. 

Particulars Rs. Particulars Rs. 

Drawings 6,000 Salaries 9,500

Capital 24,000 Sales return 1,000

Sundry creditors 43,000 Purchase returns 1,100

Bills payable 4,000 Travelling expenses 4,600

Sundry debtors 50,000 Commission paid 100

Bills receivable 5,200 Trading expenses 2,500

Loan from Karthik 10,000 Discount earned 4,000

Furniture 4,500 Rent 2,000

Opening stock 47,000 Bank overdraft 6,000

Cash in hand 900 Purchases 70,800

Cash at bank 12,500  

Tax 3,500  

Sales 1,28,000  

  ¤ßÁ¸® ÂÁµ[PÒ µõ©Q¸ènõ {ÖÁÚzvh® 
C¸¢x 31 ©õºa 2007 AßÖ ö£Ó¨£mhx. AÁØøÓ 
öPõsk C¸¨£õ´Ä u¯õº ö\´P. 

Â£µ® ¹. Â£µ® ¹. 

Gk¨¦ 6,000 \®£Í® 9,500

•uÀ 24,000 ÂØ£øÚ v¸¨£® 1,000

£Ø£» PhÜ¢÷uõº 43,000 öPõÒ•uÀ v¸¨£® 1,100

÷\.©.^mk 4,000 ÷£õUSÁµzx ö\»Ä 4,600
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Â£µ® ¹. Â£µ® ¹. 

£Ø£» PhÚõÎPÒ 50,000 PÈÄ ö£ØÓx 100

ö£.©õ. ^mk 5,200 Â¯õ£õµ ö\»ÄPÒ 2,500

Põºzv°h® Phß 10,000 uÒÐ£i ö£ØÓx 4,000

AøÓP»ß 4,500 ÁõhøP 2,000

öuõhUPa \µUQ¸¨¦ 47,000 Á[Q ÷©ÀÁøµ £ØÖ 6,000

øP öµõUP® 900 öPõÒ•uÀ 70,800

Á[Q öµõUP® 12,500  

Á› 3,500  

ÂØ£øÚ 1,28,000  

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Distinguish between double entry system and single 

entry system. 

 Cµmøh £vÄ ©ØÖ® JØøÓ £vÄ •øÓ Cøh°À EÒÍ 
÷ÁÖ£õkPÒ GÊxP. 

17. Prepare ledger accounts for the following transactions : 

 2009 

 May 01 Mr. Ajay started business with cash Rs. 75,000 

  01 Purchased machinery for Rs. 12000 

  02 He opened an account with Indian bank Rs.20,000 

  05 Goods purchased from kamala Rs. 15,000 

  10 Paid to kamala in full settlement Rs. 14,500 

  14 Goods sold to Mr. Balaji Rs. 20,000 

  16 Cash received from Balaji Rs. 5,000 

  18 Goods purchased for Rs. 10,000 

  25 Goods sold for Rs. 25,000 

  31 Interest on capital @ 10% for the month 

  31 Depreciate machinery @ 10% 
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 ¤ßÁ¸® ÂÁµ[PøÍ öPõsk ÷£÷µmk £vÂøÚ u¸P. 

 2009 

 ÷©   01 v¸. Aá´ •u¾hß öuõÈÀ öuõh[Q¯x  

¹. 75,000 

  01 C¯¢vµ® Áõ[Q¯x ¹. 12,000 

  02 Á[Q PnUS öuõh[Q¯x ¹. 20,000 

  05 P©»õÂh® öPõÒ•uÀ ö\´ux ¹. 15,000 

  10 P©»õÂØS •ÊÁx©õP ö\¾zv¯x ¹. 14,500 

  14 £õ»õâ°h® ÂØ£øÚ ö\´ux ¹. 20,000 

  16 £õ»õâ°h® öµõUP® ö£ØÓx ¹. 5,000 

  18 öPõÒ•uÀ ö\´ux ¹. 10,000 

  25 ÂØ£øÚ ö\´ux ¹. 25,000 

  31 •u¾UPõÚ Ámi ©õuzvØS @ 10%  

  31 C¯¢vµ® ÷u´©õÚ® BÚx @ 10% 

18. Enter the following transaction in the proper subsidiary 

books of R : 

 2009 

 Jan 01 Sold goods to Ramesh Rs. 525 

  01 Bought of Hari Ram Rs. 780 

  02 Ramesh returned goods Rs. 75 

  03 Sold to Dina Rs. 550 

  04 Purchased goods from Mangal Rs. 700 

  05 Sold goods to Zakir Rs. 350 

  06 Returned goods from Zakir Rs. 25. 
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 ¤ßÁ¸® ÂÁµ[PøÍ öPõsk xøn HkPøÍ u¯õº ö\´P. 

 2009 

 áÚ 01 µ÷©æØS ÂØ£øÚ ö\´ux ¹. 525 

  01 í› µõªh® Áõ[Q¯x ¹. 780 

  02 µ÷©è \µUS v¸¨¤ AÝ¨¤¯x ¹. 75 

  03 vÚÂØUS ÂØÓx ¹. 550 

  04 ©[PÍzvh® öPõÒ•uÀ ö\´ux ¹. 700 

  05 áõQ›h® ÂØÓx ¹. 350 

  06 áõQº v¸¨¤¯ \µUS ¹. 25. 

19. Prepare a bank reconciliation statement of a firm as on 

31.3.2009. 

 The bank balance as per cash book was Rs. 26,500 on 

31.3.2009. the following cheques were paid into the firm’s 

current a/c in March 2009, but were credited by the bank 

in April 2009. 

 Rakesh Rs.750: Vimal Rs.600: John Rs.810. 

 The following cheques were issued by the firm in March 

2009, but were cashed in April 2009. 

 Sharma Rs.230: Agarwal Rs.500; Anand Rs.800. 

 The pass book showed a credit of Rs. 175 for interest and 

debit of Rs.60 for bank charges. The pass book also 

contains an entry of R. 680 being the payment made by a 

customer direct to the bank. 
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 ¤ßÁ¸® ÂÁµ[PøÍU öPõsk 31.3.2009&UPõÚ Á[Q 
\›Pmk® £mi¯À u¯õº ö\´P. 

 31.3.2009&ß £i öµõUP Hmiß£i Á[Q°¸¨¦ ¹. 25,000 
¤ßÁ¸® Põ÷\õø»PÒ 31.3.2009 AßÖ {ÖÁÚ |h¨¦U 
PnUQÀ ©õºa 2009&CÀ ö\¾zu¨£mhx. BÚõÀ AøÁ 
H¨µÀ 2009&CÀ uõß ÁµÄ øÁUP¨£mkÒÍx.  

 µõ÷Pè ¹. 750, Â©À ¹. 600, áõß ¹. 810. 

 ¤ßÁ¸® Põ÷\õø»PÒ {ÖÁÚzuõÀ ©õºa 2009&CÀ 
ÁÇ[P¨£mk AøÁ H¨µÀ 2009&CÀ uõß 
£n©õUP¨£mkÒÍx.  

 \º©õ ¹. 230, APºÁõÀ ¹. 500, BÚ¢z ¹. 800.   

 ö\À÷»miÀ ¹. 175 Ámi ÁµÄ øÁUP¨£mkÒÍx. ÷©¾® 
Á[QU Pmhn©õP ¹. 60 £ØÖ ö\´¯¨£mkÒÍx. ÷©¾® 
ÁõiUøP¯õÍº ÷|µi¯õP ö\¾zv¯ ¹. 680 ö\À÷»miÀ 
SÔ¨¤h¨£mkÒÍx. 

20. The following are the balances extracted from the books 

of Thiru. Gokulnath as on 31.12.2006. Prepare trading 

and profit and loss a/c for the year ended 31st December 

2006 and a balance sheet as on that date. 

Debit balance Rs. Credit balance Rs 

Opening stock 20,000 Capital 1,00,000

Machinery 40,000 Purchase returns 1,000

Purchases 70,000 Sales 90,000

Sales returns 1,000 Creditors 29,000

Wages 2,000 

Salaries 5,000 

Office rent 2,000 

Insurance 1,000 

Debtors 50,000 

Cash 4,000 

Bank 25,000 

 2,20,000 2,20,000
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 Adjustments : 

 (a) Closing stock is valued at Rs. 20,000. 

 (b) Outstanding salaries Rs. 1,000. 

 (c) Prepaid insurance Rs. 500. 

 (d) Bad debts Rs. 1,000. 

 (e) Provide 10% depreciation on machinery. 

 31.12.2006 AßÖ v¸. ÷PõSÀ|õz AÁºPÎß C¸¨£õ´Ä 
öPõsk Â¯õ£õµ »õ£|mh PnUS ©ØÖ® C¸¨¦ {ø» 
SÔ¨¦ u¯õº ö\´P. 

£ØÖ ¹. ÁµÄ ¹. 

öuõhUP \µUQ¸¨¦ 20,000 •uÀ 1,00,000

C¯¢vµ® 40,000 öPõÒ•uÀ v¸¨£® 1,000

öPõÒ•uÀ 70,000 ÂØ£øÚ 90,000

ÂØ£øÚ v¸¨£® 1,000 PhÜ¢÷uõº 29,000

T¼ 2,000 

\®£Í® 5,000 

A¾Á»P ÁõhøP 2,000 

Põ¨¥k 1,000 

PhÚõÎPÒ 50,000 

öµõUP® 4,000 

Á[Q 25,000 

 2,20,000 2,20,000

 \›PmkuÀPÒ : 

 (A) CÖv \µUQ¸¨¦ ¹. 20,000  

 (B) öPõk£hõ ö\»ÄPÒ ¹. 1,000 

 (C) •ßTmi ö\´u ö\»ÄPÒ ¹. 500 

 (D) ÁõµõPhß ¹. 1,000 

 (E) 10% C¯¢vµ® «x ÷u´©õÚ® JxUSP. 

  
——————— 


